The world’s smallest Ferris wheel (m = 20kg) is mounted on the end of a horizontal beam for no
apparent reason. The wheel is mounted eccentrically in such a way that the eccentricity is equivalent

to a mass of 5kg located 0.15m away from the axis of rotation. The static

weight of the Ferris wheel

causes a deflection of 20mm in the beam. Given that the wheel spins at a rate of 15 rad/sec, find the

steady-state amplitude of vibration.

®

A~

=

Fo=mrw’

=‘545) (&lsu)
(stah)*

\\\:;\ % = ’.sn
N
K ;
o o
Frrx D K-£E -y - (20xy) (A8141) - a0y
& 5 (c0in) o
3“’462 Sk
XP = Fa/k Sin We &
p;(‘\’mhl l-(a L
%!QN"
| &/ - | (1e8N)/ (9810 W
Kina 35, —, ( (9810 /) 20,0320
- (. = (e _\H
1.4 R

W= \& - S%‘w" = 29147 Yad/s



X = 0038w = 318cw




